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VOCABULARY
A 0 303 o w3 Fmly 2
15.( e) 16.( b ) 17.(¢c ) 18.( a ) ¥
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19. founded  20. physician 21. forever
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22.(c ) 23.(e ) 24.(a ) 25.( d)
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GRAMMAR
A 0 303 o w3 Fmly 2 X
31.( ¢) 32.(d ) 33.(c ) 34.( a)
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35. had (already) fallen 36. got ‘
37. must be obeyed 38. Has
0.25 0.25
Al 0303 S Jlgmw 32 o5l
39. Should garbage be taken to landfill by workers?
0.25 0.5 0.25
Or
Should garbage be taken by workers to landfill ? "
0.25 0.5 0.25

40. The patient talked to the doctor whom Vahid met before.

0.5 0.25 0.25
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41. have been given 42. We would travel to Persian Gulf. W
0.25 0.5 0.25 0.25 0.5 0.25
READING
1.0 °)'“|‘°"‘w)‘> C‘“’L’fb v
43. (b) 44. (a) 45. (d)
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46. (a/T) 47. (a/T) 48.(b) 49.(d)
50. The elderly/They face some serious illnesses such as kidney problem, stomach cancer,
diabetes, and heart disease 0.25 0.25 ¥
0.25 0.25
51. They/retierd people (usually) earn about half the money that working people make.
0.25 0.5 0.25
r 005 S 15 30 DA 9 BY (5lo Jlguw ol 30305 (ad Cons 33 isly 5 OF G BY (5o Jlgus
52. (b/F) 53.(b/F) 54.(a) 55.(c) 56. (b)
57. Hybrid cars run partly on gasoline and partly on electricity. '
0.5 0.5
58. Car engineers are trying to use batteries that hold more energy and last longer.
0.25 0.25 0.5
WRITING
1.0 | 59. and 60. but 61.s0 0 303 (ol Sy Gy w2 [ s
. | 62. or drive(their) cars o yoi +/8 Lo goxo W
0.25 0.25
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63. Saving electricity seems very essential these days. YA
64. (b)
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